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Thc.figures in the margtn inclicate.full marla.

Carulidates ara required to give lheir answers

in lheir own words a,r Jar as practicable.

[Analfiical Methods in ChemisttY]

Grcup - A

Answer any th'e from the following questions :

2x5=10

1. (a) Disinguish betrveen Accuracy and hecision

(b) What is Q-test?

(c) What are the fundamental laws of Spectroscopy?

(d) Calculate the m6lar absorptivity of 0.4 x 10rM

solution which has an absorbance of 0.15 when

pathlength is 1.3 cm.

(e) What are the basic differences between TGA and

DTA?

(0 What is the basic principle of pH metric titr*ion?

P.T.O.

v-5/20 - lE00



,#fr'&#Ivt9 gs
P& E EHA

=,E 
_C 

.ng.i o-+
H(D.!+P9.5
39. E(D;^o

O m5 6-
doo.o4 ;', O€g,E'NJ
r+

.D

EU63+dr
A)'aA

?E'ds
oaXo
Ao-E
!o o.
C)
O5
e
I
o) ql
h-YO

P

o e or
E TBB H AS H g g 6gfrgs; 3;H 1tr €gi1"B3 3m7 6* E-1 O o',-. I .: o + =._ +8"?=E= 5'EB dB g
do-5'!) Rd-: ? { 

=EPXBf BEH" sg fBaX:A EEE. H..s a
A.^ - lJ.\( I o v) co 9 535Ela 3xH Ef; r
Id'fr3 Hda BH. E-trt. (,t X Oc.oroo j ..E;' ei B.6 EP'tX' r - o

3.4 = 6 A :,. (r E-
3Bd ? q tsg H 

^..,.,E rD P +) -.5 H I!v+iEQ Y3H a Io< o lJ u-lO O. 5 O

$!^n' a B3<
= s e EsE sc 

$;r f F3r .F#
)Zj1f,|r'l=.<g)(2-o)

3AI E 3+? ;66;,i I Hig #*E 3+ s" ; JB' €-e
3AE'H Gcg H=
E 7 3 E rr € r d3.45.= op-> =E:e E H.ea 2ri,.6ur x e_tE- Ha'Yq E ,, x Lh+ o, ^ " eQ gr.o4q +

3r; E =* 36qZ *. E+ -

i$* [ *$ s;

u)

v)

o
ord+
()
0l

o+)
t
(D

U)
S)

o

S)+,

oo
B

15o
U)

o
o

o
U

x
{
(D

N)
+
UJ

o\

o got oe 6 a6'

gEig3g$Ei{5glET;;

Eg*g$$FfIi;EBFBBEE
Ai uE i: t; + ^ 

o { 
F g+ +r 5:t.[3BA;*a HEs-EEE"-88 e r,, i + g i a: E4:3

Eg E i4 * 5 r. [F f I,F.i $ i i"Hi ?B$H '"$
&Yi,r g h - E Ii I+95'(+, ro E ro I E 

= 
t Fp XE

uo

6oO

-.t

)J

ffi



d

s
p
o

6

a 8SE gSsr€rpby

g g $sl *x! H $+E f r
il o- h (D: ..o

2"f E'g$ P ^5 3 atg a
!0='v<(Ddv

F+d
F H. dqt A
!'o !D o ,i5 o' oE r

B=. o-

== grE I))gE gse ia 1. E
\J ?i.

ov
*3.4u:#U
O c)<

;{ !:i.E.s;i+ Fl'a

#€E0'8 e,6H
--i

:J!/^(A

F€ €7r<<'6 .\,
(!g ru)
d =rq)AA)oi+(,ooH 4

qr.X^ o .,-f 'V 1-r O)

Y E6-ilroi/5+(DpG S.,)-.1- +
U)

f!1 N)p

?EE e e @ e O e oe O $

tg g 
e r gf gi r1 

Eg 

-f 
il E, 

g 
e F

$$ FiL6 F ig€e tE EFir
ss:B r ?++ e ? ? 3 ; EB 5=t fl

=il n ,E = H ! f g g ;r g i' =' 1 n'l,
slf d E e F i B { N, *I _8.+ I E a a r E H ,l .Ec srts E : # 3 H E g*

e:

ffi



!,

e

FFEY r E+g Igrig$gD, 6';57:"EX.-3
$E$r e gf,[ si5A
affg 

E. 
"€fl rrii:

A+q 2 :$EAEgvEs& H B'6 EgFiE'
tr.(D=OC'(rO:.+

;€} E EE EEEE6'H € H8. -;F"gt1 t qH FEs
:Ir# H u€E -fag

f
$s\!^
seeoeee

ss FE r 
's. ?[ 

g[Eeia EE H Hs iq 3' 3 + ': '* G c

>{ e6 r ;'3 i
%5 $; ? ?s ?f e;s=i Es f $r se cvi

E cE. ; i q;=g
; ke 5 ; Fi 6'*E6 vr fr B I R5[,a r i i E'83*g o 8- E -r r:'6 EE ; 1 g e55;& A E e E $11

*€ -E'H.r N)oa r...rr tf6

o

g<
o)

o

.gE
Oo
l-{ a,-Eoo

o{(n

oDV

do
IAot
D)

ts
oo

Pgo)r

oooeoeo
6=s dsf FE EF E? ffFce ggE

€HE 
oE[ i3 2r H; r H; g $ FE$'*>E 3? iH 5+ 88. Z sd H s a'i

BE * + 
=€ 

''& eA ; a 'jd s e' Tn
=g Ae :; {- <r€ E g 3s :a
r3 E{EE 65Fx:, $AE 3i9 F e"'- A'4 e E E '['r g il g a sss Fa_8= I 3 4. a "H'= eE3x ErE; + q'i qHi gs

fg tF t g ; F$H {#o =' 5,o;= U5ra ol 7 - E . FEB "aq H fr s 3 H 8-I
oE- ' * o A t z =-qE. \)= 5 ? i ri f 

=5NJ< a' t*,;-E' ppL pg wt? o s.rB _hE
:-'r

f
NJ

6
C

i

ee



rfi*$l5; esrozorz l!)

N#e
(8)

How can you distinguish between phenyl acetate
and methyl benzoate by IR spectroscopy? What
types of cells are used for liquid samples in IR
spechometer? 2+l

(c) Explain Column is the
Chromatography.

(d) What are the light sources used in fluorescence
spechoscopy? I

(e) How is D\A dettrted using gel electrophoresis?

heart of Gas
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